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You should use a calculator

1. In April 2014, Tanaya hired a car in Spain.

The cost of hiring the car was £278

The exchange rate was £1 = 1.215 euros.

Work out the cost of hiring the car in euros.

. . . . . . . . . . . . . euros

2. Prisha is going on holiday to China.

Prisha changes £260 into yuan.

The exchange rate is £1 = 9.883 yuan.

Work out how many yuan Prisha gets.

. . . . . . . . . . . . . yuan

3. In July 2015, Kwame hired a car in America.

The cost of hiring the car was £310

The exchange rate was £1 = $1.55

Work out the cost of hiring the car in dollars.

. . . . . . . . . . . . . dollars

Answers 1) 337.77 2) 2 569.58 3) 480.50
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